
National 5 Homework 
Geometry Skills Working with vectors 

 

1. Vector 𝒂  has components "35%	and vector 𝒃 has components " 4−3% 

Calculate |𝒂 − 2𝒃|. 
 

2. Three vectors have components as shown: 
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Calculate the resultant vectors and magnitudes of the following: 
a) 𝒑 + 2𝒒             b) 𝒓 − 𝒒                c)   2𝒒 + 𝒓                

 

3. The magnitude of vector "3𝑎% is 5 and 𝑎 > 0. Find the value of 𝑎. 

4.           a)  Vector 𝒂 has components /
−2
6
3
1. Find |2𝒂|.   

 b) Determine whether |2𝒂| = 2|𝒂| 

5.          A vector diagram is shown below where 𝑂𝐴;;;;;⃗ = 𝒂,  𝑂𝐵;;;;;⃗ = 𝒃 and 𝑂𝐶;;;;;⃗ = !
"
𝑂𝐴;;;;;⃗ . 
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              Express the following directed line segments in terms of vectors 𝒂 and 𝒃 : 

a) 𝐶𝐴;;;;;⃗               b) 𝐵𝐴;;;;;⃗                 c) 𝐵𝐶;;;;;⃗  


